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B.A. Part-II (Semester-III) Examination
(Optional Subject)

HISTORY

(History of India from 1206 A.D. to 1756 A.D.)

Time : Three Hours] [Maximum Marks : 80

Note :— (1) ALL questions are compulsory.

(2) The answer of essay type questions carrying 16 marks each are expected to

be near about 800 words.

(3) The answer of short answer type questions carrying 4 marks each are expected

to be near about 200 words.

1. Describe Mughal Administration. 16

OR

Describe the sources of Medieval Indian History. 16

2. Answer the following questions :

(a) Write a note on ‘Ulemas’ of Mughal period. 4

(b) Explain the Rajput Policy of Akbar. 4

(c) Write down political causes of Decline of Mughal empire. 4

(d) Write the effects of the Decline of Mughal empire. 4

OR

(e) Write about the ‘Sardars’ of Mughal period. 4

(f) Explain the Rajput policy of Aurangzeb. 4

(g) Mention religious causes which were responsible for the Decline of Mughal
empire. 4

(h) Explain the economic cause for Decline of Mughal empire. 4

3. Describe condition of women in Mughal period. 16

OR

Describe Economic condition of Mughal era. 16

4. Select the multiple choice from the following questions :

(1) Who wrote ‘Budhabhushanam’ ? 1

(a) Ramdas Swami (b) Sambhaji

(c) Poet Govind (d) Poet Bhushan
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(2) Saint Gyaneshwar wrote ‘Gyaneshwari’ in which language ? 1

(a) Marathi (b) Sanskrit

(c) Farsi (d) Hindi

(3) Afzal Khan was associated with which ruler ? 1

(a) Kutubshaha (b) Nizamshaha

(c) Adilshaha (d) Mughal

(4) Where did Shahistekhan live in Poona ? 1

(a) Parvatee (b) Lal-Mahal

(c) Tulsibag (d) Vishrambag

(5) Which treaty took place between Shivaji and Mirja Raja Jai Singh ? 1

(a) Treaty of Panhala (b) Treaty of Purandar

(c) Treaty of Wasai (d) Treaty of Raigarh

(6) Shivaji’s birth took place in which fort ? 1

(a) Shivneri (b) Raigarh

(c) Vishalgarh (d) Torna

(7) Who was the Mughal emperor, when Shivaji visited Agra ? 1

(a) Shahajahan (b) Bhadurshah

(c) Mhamadshah (d) Aurangzeb

(8) Where was Shivaji’s coronation ceremony held ? 1

(a) Panhala (b) Raigarh

(c) Shivneri (d) Pratapgarh

(9) What was the name of Sambhaji’s mother ? 1

(a) Sayeebai (b) Soyarabai

(c) Putlabai (d) Sakwarbai

(10) Which son of Aurangzeb took shelter of Sambhaji ? 1

(a) Azam (b) Muazzam

(c) Kambaksh (d) Akbar

(11) Sambhaji was coronated in which year ? 1

(a) 1671 A.D. (b) 1681 A.D.

(c) 1691 A.D. (d) 1700 A.D.

(12) Who succeeded as Chatrapati after Sambhaji ? 1

(a) Rajaram (b) Sahu

(c) Sambhaji-II (d) Shivaji-II
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(13) Who renewed the ‘Watandari System’ ? 1

(a) Sambhaji (b) Rajaram

(c) Tarabai (d) Shahu

(14) Which fort was selected for the security of Chatrapati Rajaram ? 1

(a) Purandar (b) Singhgarh

(c) Jingi (d) Vishalgarh

(15) Which language was declared official language by Shivaji ? 1

(a) Sanskrit (b) Marathi

(c) Farsi (d) Hindi

(16) When did Chatrapati Rajaram die ? 1

(a) 1689 A.D. (b) 1697 A.D.

(c) 1700 A.D. (d) 1707 A.D.

5. Answer the following questions :

(a) Describe ‘Ashta Pradhan Mandal’ of Shivaji. 4

(b) Describe ‘Secret Intelligence System’ of Shivaji. 4

(c) Describe Marathas’ judicial system. 4

(d) Explain the religious policy of Sambhaji. 4

OR

(e) Write information about Infantry and Cavalry army during Shivaji’s times. 4

(f) Describe Shivaji’s Naval administration. 4

(g) Write a note on crimes and punishment in the Maratha period. 4

(h) Describe religious policy of Shivaji. 4
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HISTORY

(History of India from 1206 A.D. to 1756 A.D.)
Time : Three Hours] [Maximum Marks : 80

¼ejkBh ekè;e½
lwpuk :—(1) loZ iz’u vko’;d vkgsr-

(2) 16 xq.kkaP;k fn?kksZÙkjh iz’ukaph mÙkjs lqekjs 800 ’kCnkai;±r visf{kr vkgsr-

(3) 4 xq.kkaP;k y?kqÙkjh iz’ukaph mÙkjs lqekjs 200 ’kCnkai;±r visf{kr vkgsr-

1. eqxy iz’kklu O;oLFksps o.kZu djk- 16

fdaok
e/;;qxhu HkkjrkP;k bfrgklkP;k lk/kukaps o.kZu djk- 16

2. [kkyhy iz’ukaph mÙkjs fygk %

(v) eqxydkyhu mysek oxkZcíy ekfgrh fygk- 4

(c) lezkV vdcjkps jktiwr /kksj.k Li"V djk- 4

(d) eqxy lkezkT;kP;k irukps jktdh; dkj.k Li"V djk- 4

(M) eqxy lkezkT;kps irukps ifj.kke fygk- 4

fdaok
(b) eqxydkyhu ljnkj oxkZcíy ekfgrh fygk- 4

(Q) lezkV vkSjaxtsckps jktiwr /kksj.k Li"V djk- 4

(x) eqxy lkezkT;kP;k irukps /kkfeZd dkj.k Li"V djk- 4

(g) eqxy lkezkT;kP;k irukps vkfFkZd dkj.k Li"V djk- 4

3. eqxydkyhu fL=;kaP;k fLFkrhps o.kZu djk- 16

fdaok
eqxydkyhu vkfFkZd fLFkrhps o.kZu djk- 16

4. [kkyhy iz’ukaph mÙkjs ;ksX; i;kZ;krwu fuoMk %

(1) cq/kHkw"k.ke~ gs dkO; dks.kh fygys \ 1

(v) jkenkl Lokeh (c) laHkkth

(d) doh xksfoan (M) doh Hkw"k.k

(2) Kkus’ojkauh ^Kkus’ojh* dks.kR;k Hkk"ksr fygyh \ 1

(v) ejkBh (c) laLÑr

(d) Qkjlh (M) fganh
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(3) vQ>y[kku gk dks.kkpk ljnkj gksrk \ 1

(v) dqrqc’kgk (c) futke’kgk

(d) vkfny’kgk (M) eqxy

(4) ’kkfgLrs[kkukpk eqDdke iq.;kyk dksBs gksrk \ 1

(v) ioZrh (c) ykyegky

(d) rqG’khckx (M) foJkeckx

(5) f’kokth o fe>kZ jktk t;flag ;kaP;kr dks.krk rg >kyk \ 1

(v) iUgkGîkpk rg (c) iqjanjpk rg

(d) olbZpk rg (M) jk;xMpk rg

(6) f’kokthapk tUe dks.kR;k fdYY;koj >kyk \ 1

(v) f’kousjh (c) jk;xM

(d) fo’kkyxM (M) rksj.kk

(7) f’kokthaP;k vkxzk HksVh osGh eqxy lezkV dks.k gksrk \ 1

(v) ’kgktgku~ (c) cgknwj’kgk

(d) egaen’kgk (M) vkSjaxtsc

(8) f’kokthapk jkT;kfHk"ksd dks.kR;k xMkoj >kyk \ 1

(v) iUgkyk (c) jk;xM

(d) f’kousjh (M) izrkixM

(9) laHkkthaP;k vkbZps uko dk; \ 1

(v) lbZckbZ (c) lks;jkckbZ

(d) iqrykckbZ (M) ldokjckbZ

(10) vkSjaxtsckpk dks.krk eqyxk laHkkthdMs vkyk gksrk \ 1

(v) vkte (c) eqvTte

(d) dkec{k (M) vdcj

(11) laHkkthapk jkT;kfHk"ksd dks.kR;k o"khZ >kyk \ 1

(v) b-l- 1671 (c) b-l- 1681

(d) b-l- 1691 (M) b-l- 1700

(12) laHkkthuarj LojkT;kps N=irh dks.k >kys \ 1

(v) jktkjke (c) ’kkgw

(d) laHkkth f}rh; (M) f’kokth f}rh;
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(13) orunkjhps iqu#Tthou dks.kh dsys \ 1

(v) laHkkth (c) jktkjke

(d) rkjkckbZ (M) ’kkgw

(14) N=irh jktkjkeyk lqjf{kr Bso.îklkBh dks.kR;k fdYY;kph fuoM dj.;kr vkyh \ 1

(v) iqjanj (c) flagxM

(d) ftath (M) fo’kkyxM

(15) f’kokthus jktHkk"kk Eg.kwu dks.kR;k Hkk"ksyk vkJ; fnyk \ 1

(v) laLÑr (c) ejkBh

(d) Qkjlh (M) fganh

(16) N=irh jktkjkepk e‘R;q dks.kR;k o"khZ >kyk \ 1

(v) b-l- 1689 (c) b-l- 1697

(d) b-l- 1700 (M) b-l- 1707

5. [kkyhy iz’ukaph mÙkjs fygk %

(v) f’kokthaP;k v"Viz/kku eaMGkps o.kZu djk- 4

(c) f’kokthaP;k xqIrsgj O;oLFkscíy fygk- 4

(d) ejkBîkaP;k U;k;iz’kklukps o.kZu djk- 4

(M) laHkkthaps /kkfeZd /kksj.k Li"V djk- 4

fdaok

(b) f’kokthdkyhu ik;ny o ?kksMny lSU;kfo"k;h ekfgrh fygk- 4

(Q) f’kokthdkyhu ukSnykps o.kZu djk- 4

(x) ejkBsdkyhu xqUgsxkjh o f’k{kk ;kckcr ekfgrh fygk- 4

(g) f’kokthaps /kkfeZd /kksj.k Li"V djk- 4
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B.A. Part-II (Semester-III) Examination
(Optional Subject)

HISTORY

(History of India from 1206 A.D. to 1756 A.D.)

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ekè;e½
lwpuk :—(1) lHkh iz’u vfuok;Z gSaA

(2) 16 vadksa ds nh?kksZÙkjh iz’uksa ds mÙkj yxHkx 800 ’kCnksa rd gksus pkfg;sA

(3) 4 vadksa ds y?kwÙkjh iz’uksa ds mÙkj yxHkx 200 ’kCnksa rd gksus pkfg;sA

1. eqxy iz’kklu O;oLFkk dk o.kZu dhft;sA 16

vFkok
e/;;qxhu Hkkjr ds bfrgkl ds lk/kuksa dk ¼òksr½ o.kZu dhft;sA 16

2. fuEufyf[kr iz’uksa ds mÙkj fyf[k;s %

(v) eqxydky ds mysek oxZ laca/kh tkudkjh fyf[k;sA 4

(c) lezkV vdcj dh jktiwr uhfr Li"V dhft;sA 4

(d) eqxy lkezkT; ds iru ds fy;s mÙkjnk;h jktuhfrd dkj.k Li"V dhft;sA 4

(M) eqxy lkezkT; ds iru ds ifj.kke fyf[k;sA 4

vFkok
(b) eqxydky ds ljnkj oxZ laca/kh tkudkjh fyf[k;sA 4

(Q) lezkV vkSjaxtsc dh jktiwr uhfr Li"V dhft;sA 4

(x) eqxy lkezkT; ds iru ds fy;s mÙkjnk;h /kkfeZd dkj.k Li"V dhft;sA 4

(g) eqxy lkezkT; ds iru ds fy;s mÙkjnk;h vkfFkZd dkj.k Li"V dhft;sA 4

3. eqxydkyhu fL=;ksa dh fLFkfr dk o.kZu dhft;sA 16

vFkok
eqxydky ds vkfFkZd fLFkfr dk o.kZu dhft;sA 16

4. fuEufyf[kr iz’uksa ds lgh fodYi pqfu;s %

(1) cq/kHkw"k.ke~ dkO; ds jpf;rk dkSu Fks \ 1

(v) jkenkl Lokeh (c) laHkkth

(d) dfo xksfoan (M) dfo Hkw"k.k

(2) lar Kkus’oj }kjk ^Kkus’ojh* dh jpuk dkSulh Hkk"kk esa dh xbZ \ 1

(v) ejkBh (c) laLÑr

(d) Qkjlh (M) fganh
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(3) vQ>y[kku fdldk ljnkj Fkk \ 1

(v) dqrqc’kgk (c) futke’kgk

(d) vkfny’kgk (M) eqxy

(4) ’kkfgLrs[kku us iwuk esa viuk Msjk dgka Mkyk \ 1

(v) ioZrh (c) ykyegy

(d) rqylhckx (M) foJkeckx

(5) f’kokth vkSj fe>kZ jktk t;flag buds chp dkSulh laf/k gqbZ \ 1

(v) iUgkyk dh laf/k (c) iqjanj dh laf/k

(d) olbZ dh laf/k (M) jk;x<+ dh laf/k

(6) f’kokth dk tUe dkSuls fdys ij gqvk Fkk \ 1

(v) f’kousjh (c) jk;x<+

(d) fo’kkyx<+ (M) rksj.kk

(7) f’kokth dh vkxjk ;k=k le; eqxy lezkV dkSu Fkk \ 1

(v) ’kgktgku (c) cgknqj’kgk

(d) egaen’kgk (M) vkSjaxtsc

(8) f’kokth dk jkT;kfHk"ksd dkSuls fdys ij gqvk \ 1

(v) iUgkyk (c) jk;x<+

(d) f’kousjh (M) izrkix<+

(9) laHkkth dh ekrk dk uke D;k Fkk \ 1

(v) lbZckbZ (c) lks;jkckbZ

(d) iqrykckbZ (M) ldokjckbZ

(10) vkSjaxtsc dk dkSulk iq= laHkkth dh ’kj.k esa vk;k Fkk \ 1

(v) vkte (c) eqvTte

(d) dkec{k (M) vdcj

(11) laHkkth dk jkT;kfHk"ksd dkSuls o"kZ esa gqvk Fkk \ 1

(v) b-l- 1671 (c) b-l- 1681

(d) b-l- 1691 (M) b-l- 1700

(12) laHkkth ds ckn LojkT; ds N=irh dkSu cus \ 1

(v) jktkjke (c) ’kkgw

(d) laHkkth f}rh; (M) f’kokth f}rh;
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(13) orunkjh dk iqu#RFkku fdlus fd;k \ 1

(v) laHkkth (c) jktkjke

(d) rkjkckbZ (M) ’kkgw

(14) N=irh jktkjke dks lqjf{kr j[kus ds fy;s dkSuls fdys dk pquko fd;k \ 1

(v) iqjanj (c) flagx<+

(d) ftath (M) fo’kkyx<+

(15) f’kokth }kjk jktHkk"kk ds :i esa dkSulh Hkk"kk dks vkJ; fn;k x;k \ 1

(v) laLÑr (c) ejkBh

(d) Qkjlh (M) fganh

(16) N=irh jktkjke dk fu/ku fdl o"kZ esa gqvk \ 1

(v) b-l- 1689 (c) b-l- 1697

(d) b-l- 1700 (M) b-l- 1707

5. fuEufyf[kr iz’uksa ds mÙkj fyf[k;s %

(v) f’kokth ds v"Viz/kku eaMy dk o.kZu dhft;sA 4

(c) f’kokth dh xqIrpj O;oLFkk ds ckjs esa fyf[k;sA 4

(d) ejkBksa dh U;k; O;oLFkk dk o.kZu dhft;sA 4

(M) laHkkth dh /kkfeZd uhfr Li"V dhft;sA 4

vFkok

(b) f’kokthdky ds iSny ,oa ?kqM+lokj lsuk ds ckjs esa tkudkjh fyf[k;sA 4

(Q) f’kokth ds ukSny dk o.kZu dhft;sA 4

(x) ejkBkdkyhu vijk/k ,oa naMfo/kku ds ckjs esa fyf[k;sA 4

(g) f’kokth dh /kkfeZd uhfr Li"V dhft;sA 4


